EARAROBEEIERT — 2 N— IBISH —F

2012%F2A5H (B) 2m=#4H

VPl &S Rl 4kt KBEF (GRS T2 (xwlw | mEmml - (w6 oo 8
[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. N [iEEes 13, —3-2- . — HREEE (EXR)
1157 7R=1¥T207 5 | BT 3(1_3)0 5-3-2-2 | 13.3 3 :?2) el
RiFxTAANAN BINFS 1 J=HrTr—L
— = é BEREX :13. —7-1- . — SR (ER)
5 5| FATILHINE H o4 S 3(133)5 8-7-1-1 | 13.3 5 (i?i) Pt
RNFHEART )=y BTFAILXTT 74 ILHISAEXS
N . SHER . -9-6- — EREHPAAL (FER)
slzly| #1vasnyzn B 7 oH 3.(11:'3).7 9-9-6-3 | 13.3 9 z:g()) e
RiAAYauFI Ry Bi4AT7F a— =igsis
. Sl aL s e LRt : 76— — BKHE (ER)
4 3| FATTUYINL 7 A 3.(113).9 7-7-6-6 | 13.3 1 ?ff) gaa:r—m?;
L:v>NnNyahTz BIVETTF IJwILTRIXA b
N . 7 | gz 3:14.2 2-2-3-4 [ 13.3| — 2 486 | BAE (FF)
558 FUEZMLR—=FR g 60.0 (1 3/4) (-2) (#%) #—23
R:iFUE by TA—F BiFUEAY—T -7 U5
. 4 5 | HEEHED 3:14.3 10-10-8-8 | 13.4 | — 6 470 | ExH= (ER)
61712 A=K — L4 60.0 (1/2) ) ®FRF
L:7A7% BiLA4FYLTIr=— ppal=laz e
N — > YR RIGE : -12-10- — RE#= (EXR)
slglis FL—bFr—n 4| M 3.(19;5).8 12-12-10-9 | 13.5 12 (5_168) s
RivFhREL /AL BRFHREUEX =FENS
i i 6 | BEK 3:16.4 5-5-5-6 | 13.5| — 13 504 | iBEKAE (FRR)
88|14 ¥~ 7NTH~— 60.0 (3 1/2) G4 | THE
RNTNAHLTIA— BEa—Fo3UAL BT 7 — L
. N 5 :16. -11-10- . - EiEE (EX)
A4S 5919 o7 e (31136/47) 1-11-10-9 | 13.5 7 (ig) e
R:TTRZXTZ4 N B:x¥ /I honNzxS hifiig
S o HiEER :16. -1-4- . — =iEE (EX)
@A aITh¥ I 60.0 (31116/3 1145 1135 i (Zg AR
L:x42ag Kby BiXA42aghLiy7 =EicEae
— s — a5 BiRHE : -13-13- - ERE— (FEH)
LS5 T%LY i 6 SRIES (e;?.;a) 13-13-13-13{ 13.7 8 (4_826) e
A:Dalakhani B:1 >3 Gieflipae]
S5 i o4 | AMREL 3:19.2 4-6-12-12 | 13.7 | — 10 | 516 |EBRFE (EX)
=24 7 57.0 (1 3/4) (3) | EAARS
LVIWIN—F v —L BiANTNFI NEIE FIR
S Ry gy AR :19. -14-13- . - RAE (EX)
SR INT — 4 5 o (31119/24) 14-14-13-14| 13.7 14 (4_624) lt(Hi) e
L:bh—>NNFy K B:YLILT7YH e E 45035
N R .09 0 g_ . — KIIFHE (i)
RLAT T 17— H 5 = (;;2{2% 3-3-9-11 | 13.9 4 (4_362) ]
AR v g4 —7 B:YV13I-KRLZR HET77—L
@ 21 L
£y 51.8-38.5
ngraAq L
® I—F—@EBIERL
|S=7r= 6-8,10-4(14,7)3,5-11=12,9,13=1,2
Aol=5"= 6-8(10,7)14,4(3,5)-11=12,9,13=1,2
== 5-7,8,6,14(3,11)12-10(13,9)=4=(1,2)
41—F— 5-7,11,8-6(3,14)12=(13,9)=10=4=1,2
[ RN
-y 7 660 | | 71 K 5-7 1,300/ | | # = 4-5 1,810 | | 3:&4& 5-7-11 54,210
7 B 7 310 7-11 3,600 | | f5 = 5-7 4,340 | | 3EE 7-5-11 195,090
5 380H 5-11 4,520 B H 7-5 7,340H
1 990H

ABICOVWTRDTEEERROODE. TR LIV,




